[ TSC
1) TSC

2)

TSC

(DCTS)

TSC



[ DCTS ]

DCTS

DCTS



DCTS

Charging Discharging
¢

B -

Metal AV
O |
Vdis
| cha(t ):l a(t )"‘ || (Vcha) AV
11 (Veha) .____¥F
0
|
11 (Vat) o

| qis(T )=1c(t )+ 11 (Vais)



t[s]

Q. (t) =Q (O) exp(- ett) &
Q(0)=aN,S N,
| ais(t) = d(jt(t) +1,(Vye) = - aSN,& exp(- et) +1,(Vys)
DCTS

D(t) 0 -t >{| dis(t) - 1 (Vdis)] eXCIpS(D



D(t) = N.et>exp(- et +1)

NN

DCTS

D(t) = § N'e't>exp(- €'t +1)

D(t)



g =7.84"10°s* N, =1.0" 10%cm™ 4.91mm?

1_
6_
— Y
<
: 5
O 4t &io
o S
el |\_|O.5
= —~
2ol N
— a
O-1 ' Io ' I1 ' I2 ' Is o 0 — ' '2 ' '
100 100 10 100 100 10 100 10° 100 102 10 10°
Time [s] J Time [s]

(ocrs
% D(t) =-1 >{| dis(t) - 1 (Vdis)] exqpél) _ﬁ

t =127s e =7.84"10°s* N,=D(t )=10" 10“cm’




DCTS

O™

fﬂ\

DCTS




[ DCTS ]

eref

€ o DCTS

DCTS

D(t, € ) - tA14s(t)- 1 (Vo] qups(l) eXp(- €4 t)

= N,et>expl- (g +e4) t+1]

1:m = 1 D(t’eref )
et +ere=f




Eref

D(t,e )

Z
[

D(tm’eref )

1- et

m




e =1.13"10°s* N, = 1.0" 10¥cm™ 4.91mm?

— 17 C\']E

C}JE _2:O /eref \

&) ()

N —i

Ha -

L -0.5} 1<;C: t =156 s

) = - € =113"10"°s™

N o

= = | D(t.,5.00" 10°%)=2.20" 10''cm 2
0 JdoAa

\ -~ N, =10 10120m'2/

10






e 3.74"10's* 7.84°10°" N, 1.0 10%cm™
5 | o | o |

N
|

w
|

N
|

—
|

D(t,ers) [ 10" cm™]

O ]

102 101 10° 10' 10?2 10° 10 ™
Time [S]

12



€ ef

DCTS
- — e, =-6.00"10° s
© — Cer = 0 S-l
5} —— e, = 6.00°10°s™
= 1 ] -
)
a
T 05} - Cref
Q
) Eref
a
O 1 1 1 K
10t 10° 100 10 10° 10°

Time [S]






15

eref [, 10_3 S-l ]

N, [ 10" cm™]

1.2

O
oo

o
o

o
N




eref

eref

H. Matsuura: Jpn. J. Appl. Phys. 36(1997) 3569.
SDM98-180(1998-12) 81.

H. Okino, et al.:Jdpn. J. Appl. Phys. 37(1998) 5137.

16



